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(1) PR 7= (o) BTHOFEEICELY o = 3.38 N/mf
(2) B & 98 (m)
m = 1SL + 2-0 = 33.8 N/mf
L->T m = 33.8 N/mf
(3)kEAL FEE(W/C) m = -18.7 + 27.8 X C/W
W/C = 27.8 = (33.8 + 18.7) X 100 = 52.5 % = [55% (_-[R{H) ]
SW/C = 52.5 %
(4) Bk E (W) VTHHOEMEZELY W = 173 ke/m
(5)HSrE A F&E(C) C =W + (W/C) X 100 = 173 = 52.5 X 100 = 330 kg/m
Cv= C + B =330 =~ 3.04 = 109 2¢/m
(6)22% &2 (A) A = 4.5 % X 1000 = 45 2 /m
(7)) BN EHME(G) Y THOEKICLY »EIFFE = 0.580 m/m ERER = 58.0 %
Gv = 0.580 X 1000 X 58.0 = 100 = 336 £ /m
Glv = Gv X 60.0 % = 202 2/m Gl= GIlvXFEWERE = 202 X 2.68 = 541  keg/m
G2v = Gv X 40.0 % = 134 2 /m G2= G2 XFEWIEFE = 134 X 2.67 = 358 keg/mi
(8) BN HE#ME(S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 663 = 337 £/m
Slv = Sv X 60.0 % = 202 £ /o S1= SIvXFEWEE = 202 X 2.66 = 537 kg/ni
S2y = Sv X 40.0 % = 135 £ /m S2= SZvXEE;iL%T“ = 135 X 2.63 = 355 kg/m
(9) Mg Haﬁ(s/a) s/a = Sv = (Gv+Sv) X 100 = 50.1 %
(10)$fi{rbﬂ]ﬁ'£<Ad) Ad = C X I X B = 330 X 0.9000 % X 1.00 = 2.97 kg/m
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